OPEN RESPONSE- Answer on separate piece of paper! (10 points each)
1. Cattle-like animals called wildebeests live in Africa. The wildebeest population decreased for many years because of a fatal virus. The virus was eliminated in the 1960s by vaccinating the wildebeests against the virus. The graph below shows changes in the size of the wildebeest population from 1961 to 1983.


a. Describe the effect of the vaccinations on the death rate in the wildebeest population. (3 points)
b. Explain the change in the size of the population from 1961 to 1977 in terms of birth rate and death rate. Assume immigration and emigration rates were equal during this time.  (3 points)
c. Based on the graph, describe what happened to the wildebeest population size from 1977 to 1983 and explain why this pattern most likely occurred.  (4 points)
2.   A small part of a food web for a forest ecosystem is shown below.
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a. Classify each of the five organisms in the food web as a producer, a primary consumer, a secondary consumer, or a tertiary consumer (2 points). 

b. Identify the type of ecological relationship between salamanders and birds in this food web (2 points). 

c. Suppose there is a significant decrease in the bird population. Based on the relationships in the food web, explain why it would be difficult for ecologists to predict what would happen to the size of the salamander population (3 points).
d. In this ecosystem, is more energy available to the bird population from eating beetles or from eating seeds from the evergreen tree? Explain your answer (3 points).

